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1. Statement: 

--'--- -----For·th"ten-mbriths-from-April 2008 th1"O"ugh~January'2009"'" -. ~ 

("ten-month period"), Tammie Lynn Powell's meter 
registered little to no electrical usage. 

~ I don't know whether the statement is true or false.
 

D The statement is entirely true.
 

The statement is not entirely true because:-L Af\m,J fl"V lJ1!../q !J}:f;,
 ...	 ~, I 
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2.	 Statement:
 

For the electricity that Tammie Lynn Powell used during
 
the ten-month period, Empire did not bill Tammie Lynn 

----'Powell. "."- ~_.".• - - --~ --- ­

11 don't know whether the statement is true or false. 

D The statement is entirely true. . (.,....-j	 , 
The statement is not entirely true becausea UQ$ ()tI~ br!k c 
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3. Statement:
 

For the electricity that Tammie Lynn Powell used during
 
the ten-month period, Empire may make an estimate
 
("estimated usage"). 

ilf I don't know whether the statement is true or false. 

D The statement is entirely true. 

The statement is not entirely true because: _ 

..,-. ..- ..	 -_..........-­-' 

4.	 Statement: 

For the electricity that Tammie Lynn Powell used during 
the ten-month period, Empire may recover the entire 
estimated usage. 

~ I don't know whether the statement is true or false. 

D The statement is entirely true. 

The statement is not entirely true because: _ 

For the electricity that Tammie Lynn Powell used during 
the ten-month period, Empire seeks to recover payment 
for six months' worth of electricity ("the amount"). 

D I don't know whether the statement is true or false. 

ri The statement is entirely true. 

rH'	 .J-M e..'-1
The statement is not entirely true because: -'I 1\(...\/ C) a' '6, .../.
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6. Statement: 

Empire seeks to recover the amount under a payment 
plan lasting 12 months, 

o I don't know whether the statement is true or false.
 

pThe statement is entirely true,
 

The statement is not entirely true because: ----:=--=-----:=-=-:--..,..,::------:=-',=----:_----:----:_ 
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